Design for NVIDIA GEFORCE RTX 2080

Bitspower* et

(1) BP-VG2080RDS 14
p \ @ 1.0 EREHBR 5h
F1EOTHRE @ = it EAIDRGBIE - @ 2.5 %%E;ﬂﬂ#‘ 6 ):||
Digital RGB PIN on @ motherboard or @ other equipment. N )
72 @ = 1R @ EL 012 2 ODRGBIEHE - @ nERH 1%
o e 2 ® o5 ®HET 141
i ©® M2.5x 6 E:kKig# 16 %
==
= | @ M25E8 118
(o] 2o
¥ Ny, BRREHER 18
e DRGBIZHISB (R ) e Accessories
motherboard DRGB Multi Function Controller(Not included) -
—= DRoRETEC R J 0 I (1) BP-VG2080RDS 1SET
e P @ 1.0 mm Thermal pad 5PCS
2 :( @ 2.5 mm Thermal pad 6 PCS
$z
ﬂ] @ Booster Screw 1 PCS
4 g A (8 0.5 mm Washer 14 PCS
% ;?” T~ (® M2.5x6mm Screw 16 PCS
¥ ple 4 Iil (@) M2.5Nut 1PCS
i o Q T8 Original baffle 1 PCS
\'/F\/ - > 4 /
A L
! - Ao+
__ © (1) BP-VG2080RDS 14
)
® @) 10=KSHBA 5 A
@ ®l® N
4 (@ 25BKRSRBA 6 F
g ® ® @ zEBy 1%
& ¢ ®) 05 =xzD 14 1
{ | g &d ® M25x6=king 16 %
8 )\ 5 @ @ M2528 14
g i B 41K 14

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE



Bitspower®

) o C
-] D ::;13
Q o ae )
8
9
ol;’_ c=o o

e o o
E . o ° aln cn Q C
:,. GE ° o gngo
||l||||l|||l||||l|||l||||l||||l|||1f\b

NVIDIA GEFORCE RTX 2080

Applying the thermal pad and thermal paste on correct positions. 3 é ““E EIJIEﬁﬁr"Fﬁ ﬁiﬁ

EZ] Using appropriate amount of thermal paste. El esERens
[ 1 mm Thermal pad B 1 mmEigaA

[] 2.5 mm Thermal pad [] 2.5 mmEsas
A o TR o (BT S SR « 5T o T TS Before filling in the water, please make sure all the components are installed correctly.

: ER - KA - BERIAAESHERREERPMUE L - £RFEN - BFKRIERT -
e i " To prevent any leakage which may damage the PC components, please perform a
& SHYERK S b i i - 8 A P i i
ET24/NSRBKAIE - BRRRKEREEHIN  BeRERKMEREHD RN A 24-hour leaking test with only the pump connected to the power supply . A #7224/ E9EK IS - RIRTRKEREBFEN - BRRERKNSRBMBHAIIRT

V1/%—hR



Design for NVIDIA GEFORCE RTX 2080Ti

Bitspower" et

(1) BP-VG2080RDS 14
, . @ 10 =kEmzR 5 A
FEO TR @ R EAIDRGBIEE - @ 2.5 EREMME 6K
Digital RGB PIN on @ motherboard or @other equipment. . )
10 =73 @2 112 & (DRGBIE - @ zERH 1%
® o \ ® o5 mwm 14 5
i ® M2.5x 6 Ekig# 16 %
= o
_ © s @ M25 88 18
@ %
I 4 oS BRI AR 118
% (<] ()
> B - -
ES DRGBIZHIZB(REE) S N Accessories
motherboard DRGB Multi Function Controller(Not included) ® >
\ ES DRGBZ#IZE (R B4) y 4 - ) 0 @ BP-VG2080RDS 1 SET
7 Q 0 @ 1.0 mm Thermal pad 5PCS
77 2 @ 2.5 mm Thermal pad 6 PCS
7/ @ Booster Screw 1PCS
4% ] I g 4@ (® 0.5 mm Washer 14 PCS
7 < (8 M2.5x6 mm Screw 16 PCS
8 ; AP @ M2.5Nut 1PCS
7o % Original baffle 1 PCS
» &
fe
B > & Ao
(<>
® e (@) BP-VG2080RDS 14
& T (2 1.0=XKSHRBA 5h
? ®| P @—@ —
l (3 25BRSHRBA 6 R
) ® ® @ zEgy 1%
8 ¢ ® 05=KET 14 A
Iy ! g 8¢ (®) M25x6Ekigy 16 %
¢ 4 & @ @ M25 88 14
g g B 4R 14

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE



Bitspower’

NVIDIA GEFORCE RTX 2080Ti

g;\\g& ):'I *ug';fg\,% E"JIEEEEEFH ﬁl’_ﬁ Applying the thermal pad and thermal paste on correct positions. ﬁ_n“iﬂ, ):'I *u %%\\% EI\JIEEQEFH {ﬂ%

BEFERTHNE Using appropriate amount of thermal paste. EFERERE
B 1 mmEzaA B 1 mm Thermal pad B 1 mmEsaas
[] 25 mmEszks [] 2.5 mm Thermal pad [ 25 mmEszks

SR BT T AR DR R R | 2R - MEKEAART - Before filling in the water, please make sure all the components are installed correctly.

24 NSRSt « TR TR R L Tl . 1 B K T B0 B R PRI - To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

FRERBHERNRAELURBENES - MBEHOASITEN - ERESZARGUBYRE - Vl/%—ﬂﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
AREREN MR EXURBRNNT - MBENCABITEN - RIS SEGFUIIRE -

A AR - HKAET - EEBIAASHERREERNAE F - £RFEN - BFKRIERT -
HT24/) NEEKINE - BRTRKEREEFEN - BRRERKNS KBNS HAIBRT -




Bitspower’

A& : BitspowerZZ HEEERZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIREMERERE - KBEE KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEEREERER -
REKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
EE : BitspowerZ2WGHBREERAZIEK « AEK - MABitspowerfIRFEANKLZRER ; MEFBITEMMNKLIRSHBEEHE - KEEE KRE
A MALER - KEERRAZHEZEURRKEREERURAZOERN - HEEBITREERTmRE -

REKE - BABHKRER -

AR HKED - AEERASHCLRELENUE L - EAREW - BEFRKRERT - ET24)0ENKIE - BRERKELEBHIN  BRRERKMERNEMIHNIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATAESHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKNE - BRERKEREEAEN - BRRKERKMNSREBMBAHNIRL -

FRERBHERNRAELURBENES - MAEHOASITEN - EREASZARGUBYRE - Vl/%—_ﬂﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

AREREN MR EXURBRNNT - MBENCASITEN - RISk GFUIIRE



